EHEESFE(RMRNE)(55vr35-50)
FEO0—FEOEMOE
A 7THE9 HDETH ZCREH=
[E#ET]
5: | =R
(ME=R9B|ILLT)
£1. 72%
(B =R 9 FI&E)
£1. 83%
(ME=R9B|ILLT)
£2. 11%
2 10 E
IR 7 1 (B 9 #)
£2. 22%
(ME=R9B|ILLT)
£2. 21%
(B =R 9 FI&E)
£2. 32%

KR FHOEE--50,000 FI+HEERL L IE, 2V LADEDICKE TR ESN,

2 0FLLF

36&£UE




EHEESFE(RMRNE)(55vr35-50)
FEO0—FEOEMOE
T T7THE 9 ADERTH TRMER =
[ERA] (=EHEE&F-0.22%)

B 5 =R
(ME=R9B|ILLT)
£1. 50%
(B =R 9 FI&E)
£1. 6 1%
(ME=R9B|ILLT)

£1. 89%
2 10 E
IR 7 1 (B 9 #)
£2. 00%
(ME=R9B|ILLT)
£1. 99%
(B =R 9 FI&E)
£2. 10%

WRINE FRCEL A X 1.82%  FEL<IE. PO LAOZEDICEE-Th S0,

2 0FLLF

36&£UE




